

証明

Step 1 2変数のF.T.の定理から、

$$f(a+s, b+t) - f(a, b) = \left[ s \frac{\partial f}{\partial x} + t \frac{\partial f}{\partial y} \right] + o(\sqrt{s^2+t^2})$$

o(√(s²+t²)) = 0

$$+ \frac{1}{2} \left( s \frac{\partial^2 f}{\partial x^2} + t \frac{\partial^2 f}{\partial y^2} \right) + o(\sqrt{s^2+t^2}) \quad (0 < \rho < 1)$$

$$\text{第2項} = \frac{1}{2} \frac{\partial^2 f}{\partial x^2} (a+0s, b+0t) \cdot s^2 + \frac{\partial^2 f}{\partial x \partial y} (a+0s, b+0t) \cdot st + \frac{1}{2} \frac{\partial^2 f}{\partial y^2} (a+0s, b+0t) \cdot t^2$$

G(S, T) を次のように

$$G(S, T) = (0, 0) \text{ の時, } G(S, T) = 0 \quad \text{r.t.c.}$$

$$(S, T) \neq (0, 0) \text{ の時}$$

$$G(S, T) = \frac{s^2}{2(s^2+t^2)} \left\{ \frac{\partial^2 f}{\partial x^2} (a+0s, b+0t) - \frac{\partial^2 f}{\partial x^2} (a, b) \right\} + \frac{st}{s^2+t^2} \left\{ \frac{\partial^2 f}{\partial x \partial y} (a+0s, b+0t) - \frac{\partial^2 f}{\partial x \partial y} (a, b) \right\} + \frac{t^2}{2(s^2+t^2)} \left\{ \frac{\partial^2 f}{\partial y^2} (a+0s, b+0t) - \frac{\partial^2 f}{\partial y^2} (a, b) \right\}$$

→ f(x, y) の 2次微分

$$\Rightarrow G(S, T) \text{ は } (S, T) = (0, 0) \text{ を除く } \forall (S, T) = 0$$

$$f'' \rightarrow f(a+s, b+t) - f(a, b) = \frac{1}{2} (As^2 + 2Bst + Ct^2)$$

本項

$$+ \left[ \frac{s^2-t^2}{2} A + 2stB \right] G(S, T)$$

本項

f'' の

$$\text{II C. } A = \frac{\partial^2 f}{\partial x^2} (a, b)$$

$$B = \frac{\partial^2 f}{\partial x \partial y} (a, b)$$

$$C = \frac{\partial^2 f}{\partial y^2} (a, b)$$

$$\Leftrightarrow Hf(a, b) = \begin{pmatrix} A & B \\ B & C \end{pmatrix}$$